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asym_bcm_target RMS (ppm)
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asym_bcm_an_us (ppb)
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asym_bcm_an_us RMS (ppm)
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1D pull distribution
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_an_ds3 RMS (ppm)
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asym_bcm_dg_us (ppb)
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asym_bcm_dg_us RMS (ppm)
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asym_bcm_dg_ds (ppb)
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asym_bcm_dg_ds RMS (ppm)
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diff_bpmE (nm) 1D pull distribution
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diff_bpmE RMS (um)
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diff_bpm4aX (nm)
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diff_bpm4aX RMS (um)
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1D pull distribution
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diff_bpm4eX RMS (um)
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diff_bpm4aY (nm) 1D pull distribution
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diff_bpm4aY RMS (um)
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1D pull distribution
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diff_bpm4eY RMS (um)
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diff_bpm11X (nm) 1D pull distribution
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asym_usl RMS (ppm)
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asym_usr RMS (ppm)
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asym_us_dd (ppb) 1D pull distribution

15000 X2/ ndf 45.41 /62
— Mean -0.01093 + 0.107
- pO 57.07 + 551.3 r
- 16 __ B StdDev  0.8489 + 0.07563
10000 — o
— L Underflow 0
C 141
- r Overflow 0
5000 — o M
T r X2 / ndf 9.166/5
| Ll
0 T .[ 1 T T : Constant 13.77 £2.46
l l 171 L
10+ Mean  -0.08067 +0.11953
-5000 r Sigma 0.8402 + 0.1049
: 8-
10000 — -
- oL
A L
4 —
2
P . ) T . O-|||||||| |||||||| ||||||||
NN O T T N -8 —6 -4 -2 0 2 4 6 8

ANNBBBEBIBIBBOB GGG GO NN NN BBRCBRABRHS
o A, =

Q000000020000 2000020 0002000020000 200000000
< NIIIST S

o
NANNNNNNN NN NN
[Sielelelolelslolole]
NIIIIIIIIS

IIITIIIIVIIIIVIISS IITIIIIIIVIIIIIST



asym_us_dd RMS (ppm)

_o
L 111
o
o
T}

(wdd) sy

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



asym_dsl (ppb)

X2 / ndf
p0

52.13/62
531.7+777.8

20000

15000

10000

5000

o

R TTTT ]

-5000

-10000

-15000

—-20000

2E

NN NN T MOOIGOIBNBE GGOONNN NN OBBBRRIBRRSLO0COSSO
o A, =
QOOCOR0000200002000020 0002000020000 20000000
T IIIIIIIIITIIIIIIIIIIVS IS99

O,
FIIIIIIIIIIIIIIISS

1D pull distribution

Mean —0.007099 +0.1146
r Std Dev 0.9097 + 0.08104
14 __ Underflow 0
L Overflow 0
12
- X2 I ndf 3.865/5
r Constant 13.73+2.17
10
I Mean -0.07118 +0.13280
s B Sigma 0.9364 +0.0977
6
4
2
0 il ||III|III| I
-8 ) -4 -2 0 2 4 6 8




asym_dsl RMS (ppm)

(wdd) sy

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



15000

10000

5000

-5000

-10000

asym_dsr (ppb)

X2 / ndf
p0

52.32 /62

4794 +

536

N e N O N N S B N N O SN O NSNS
NN NN BHOOBLOBBNO G GOONNN N~ 0B G B0 RRRHO Q)

e A
Q0002000020000 2000020 0002000020000 200000
EEEE AR S EEAREEEEREEE R EE AR S A AR AR e i

1D pull distribution

—0.004074 +0.1148

0.9113 +0.08119

2541/6

13.44 +2.35

0.03582 + 0.13630

0.9737 +£0.1299

Mean
18__ ] Std Dev
r Underflow
16
: Overflow
141 X2 I ndf
: Constant
12~
: Mean
10 Sigma
] =
6
a+
2
ol Ly Al e b
-8 -6 -4 -2 0 2 4




asym_dsr RMS (ppm)

ettt eyl

(wdd) sy

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



10000

5000

-5000

asym_ds_avg (ppb)

X2 / ndf
p0

63.68 /62
417.6 + 390.3

P

(AN NN NN
3 H

NNNNNNNNNN

pebatatatatatatatatatatatatatael
IIITIIIIVIIIIVSS

S0 o0 oaNo S NNNNNNN SN
IIITIIIIVIIIIIIITI NI

LIy
-

1D pull distribution

Mean 0.003262 + 0.1267
[ B Std Dev  1.005 + 0.08957
16
- Underflow 0
14 B Overflow 0
- X2/ ndf 6.588/6
12F ’\ Constant 12,65 +2.23
: Mean 0.1661+ 0.1381
10
o Sigma 0.9697 + 0.1262
8 —
6 —
4
o
0 L L1l | Ll | | 111 | 111 | 1 L.l | 11l
-8 - -4 -2 0 2 6 8




g RMS (ppm)

ds_av

asym_

°
___o_______g___________

m

_______________
o o o o
© T} < ™
™ ™ ™ ™

(wdd) sy

320 —

o
-
™

o
o
o™

o
(e}
N

o
[e0]
N

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



asym_ds_dd (ppb)

15000 —
10000 —

5000 —

[
-5000 i

—10000 [—

X2 / ndf
p0

46.22 /1 62
98.51+ 538.3

NN NN BB BIBOBIBS GG G GONNN NN BXOBEBRBHRHSD,
o A, = N
oooooooooooooooooooggggggooooooooooooooo

IITIIIIIIVIIIIVSISS IITIIIIIIVIIIIT

1D pull distribution

6.436/5

13.15 +2.30

Mean -0.01095 +0.1079
14 B Std Dev 0.8565 + 0.0763
r Underflow
12 Overflow
r X2 / ndf
10~ Constant
I - Mean  -0.06614 * 0.13568
8- )
Sigma 0.9351 +0.1220
6 —
aF |
2
0 | | 11l 1 | 111 | 111 | L1l | 11l
-8 -6 -4 -2 0 2 4 6 8




asym_ds_dd RMS (ppm)

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



asym_atll (ppb)

X2 / ndf

40000
30000
20000 {

10000

-10000
—-20000
—-30000

—40000

o
[TTTT A

pO

44.98 /1 62
538.9 + 1291

NSO OTOTIN

NN PR S
0BORRRRRO QN

o
<

000000020000 2000
IIITIIIIVIIIIVIST

0000200002
IITIIIIITY

1D pull distribution

Mean

20

18

16

14

12

10

Std Dev

Underflow

Overflow

X2 / ndf

Constant

Mean

Sigma

—0.002356 + 0.1065

0.845 +0.07528

10.21/7

16.75 + 4.36

-0.1421+ 0.0992

0.6706 + 0.1482

L

CJOO

-5

-4

-2

0

2 4

6 8




asym_atll RMS (ppm)

(wdd) sy

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



asym_atl2 (ppb) 1D pull distribution

X2 7 ndf 64.54 ] 62

Mean 0.004041+ 0.1275
pO 614.3 £ 2867 F
I Std Dev  1.012 + 0.09017
14 __ Underflow 0
| Overflow 0
121~
- X2/ ndf 6.476/7
o Constant 11.96 + 2.04
0 r Mean —0.069 + 0.149
s I Sigma 1.023 £ 0.121
-60 6 B
L L L il -
2E L
1 5 I
0 L
_l :
_2 0 III|III I|III|III|I III|II|
NNNEBBEBBGION GO G GO M~ BB G ER TGRSO S OOOSSO T S i i ; 8| 46 4 2 0 2 4 6 8
(N[

e A
Q0002000020000 2000020 0002000020000 20000
< NIIIST

IIITIIIIVIIIIVIISS IITIIIIIIVIISIS



asym_atl2 RMS (ppm)

2400

2300

2100

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



60000

40000

20000

—-20000

—-40000

-60000

asym_atrl (ppb)

X2 / ndf
p0

55.05/62
490.2 + 2019

NN NN OO MGLOOOGE EGOGNNN NNV BBRRTRBBSLOOSOSSO = T NN NN

e A SN
Qo000 Q00002000020000200002000020000000000
EAEREAEEE ARSI S S RS S RS A R S S AN S S S A

i
(=i=}
<<

o Nl
[=l=1=
I

Najovaa
000000000
IITIIVIIIS

1D pull distribution

Mean  0.008151+ 0.1178
161~ Std Dev  0.9347 + 0.08327
| Underflow 0
14
o Overflow 0
12 F X2/ ndf 3.049/6
L Constant 1411+ 2.30
10+ Mean 0.1298 + 0.1348
r Sigma 0.948 + 0.112
sk i
6_
4
2
0|||||||| Lo laadlls il
-8 -6 -4 -2 0 2 4 6 8




asym_atrl RMS (ppm)

ettt et eyl

(wdd) sy

1300 —

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



80000

60000

40000

20000

—-20000
1

—40000

-60000

-80000

asym_atr2 (ppb)

X2 / ndf

0

pO

68.72 162
657 + 2789

NNNmmmmmmmmmmowwwwN

- NN g%

0002000020000 20000
IIITIIIIVIIIIVIISS

e A
Qo000
NIIIST

Do oooaNoNNNNNANN
IITIIIIIIVIIIIIITT

NNNNNNNNNNNgN

Qo
AR A A

1D pull distribution
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r Underflow
12 Overflow
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